‘chapter 7 review

Formulas vou must know:
Distance Formula ‘ Z } 1 %J + (\’2- i 'j

Pythagorean Theorem aq'+ba:’; c 2

Find the square root(s).
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Find the cube root.
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10. A cube-shaped aquarium has a volume of 1728 cubic mnches. What 1s
the width of the aquarium?
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Find the missing length of the triang| ([bDM’] RHh‘P—WWq!LS
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13. A toy marble run has ramps and

Mmmdpm . Each ramp is 41 '|'
g. The turnaround is
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aShn 40 cm

. How tall is the toy I%Cm
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Classify the real number.
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Estimate the square root to the nearest (a) integer and (b) tenth.
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19. The time 1n seconds for an object to fall d meters 1s modeled by \/;

How long does it take the object to fall 200 meters? Round to the

nearest tenth of a second. {0 ‘ 3 S e C
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Which number is greater? Explain.

20. /44,22 21. —./08,-08
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Write the decimal as a fraction or a mixed number.

22. 037 23. 718
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 Find the distance between the two points.
24. (-10.9). (10, -12) 25. (10, -4). (-14. 6)
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Tell w‘h;theé the t@ngle with the given mdeAengtlBls a rght triangle.
2. 88 158 174 21, 14km, 48 km, 30 km
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28. Find the side lengths of the triangle in the figure. Is 1t a right triangle?
Explain your reasoning.

Y

The longest side 1s 10 units long. Using the

Pythagorean Theorem, the shortest side

is v/47 + 27 = /20 units long and the

third side is ~/4* + 8 = /80 units long,

Because 20 + 80 = 100, the triangle 1s a

right tniangle.




